


15 Cents each on a reel of 3000



$7.00/100 
Under 3 Cents 
In quantity



22 mS  .9nV^hZ 
$3.00 available 
and  4 cost less 
than a vacuum 
tube



Front End 
Gain = Yfs*750  Yfs 25 
750/(1/Yfs + 10) =15 
Q2 cascode has no gain 
Because it shares R2 with Q1 



dB to  
23.5/20 = 1.175 
10^1.175 = 15



4.80/.3 =16



10 KHz square wave response 
of front end.



Input gain 16 
Vas 50 Q14,Q9 
27+3 = 30*500 
15000/2=7500 
7500/150 = 50 
50 * 16 = 800 
58 dB open loop











R2 3.3K





.0003% simulated 

.0006% actual includes noise





Pin configuration drops in 
To use as an output transistor  
To drive heavier loads. 
Emitter resistors can be smaller 
For higher bias. 
Be careful on direction of pinout.








